SUMPORRIESANINTOI S s

SE“MIg)D SUMPO EPD — R EE A AT IR B RS
'. D CEwAlET (EPD) ST KX A 1-14-8
VERIFIED KANDA SQUARE GATE

F5&ES ¢ JR-AI-25039E

FUJIFILM

https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BLTAMVLEYRR A/N-VavlKaH
FUJIFILM Business Innovation Corp.

A3 B/ ODOEEH

A3 Monochrome Multifunction Printer

: Apeos 3061 (Model-PFS-4T-B)

i o —— -
“ i i "
3 [t

A>F—PRE bl (AT232) BEHRBRICEHFEA.

(for JP)

Apeos. Apeos 0. ApeosPro. ApeosPort SKTF ApeosPrint (. BEEITAILAESR A I R—2 3  HARHOBREEFZ(EBEHIETT .,

HEHEN
WE1EHEY
HEXN RS
|33 O e

OEMREZE QEE QRE @R - #k
®EE-UHMI)

KMOBER, FTEMR-FET
ity : Apeos 3061 (Model-PFS-4T-B)
TEMt  B/U0EEH EPAHR)
ENRIERE : £/70 30ppm (A4 LEF)
RABETAZ T A3, 11x17"

FUYb/AE—/AF v [FAX
M EN R RE/ADF(RTE B 81504 #)

ERES JR-AI-25039E
ERAPCRES  pA-590000-Al-08
PCR# ER A H 25
NE]=! 20255 10A2H

RILE®E 202529890
BRIEA N VAT LRI AR
RELES 2025-FB-EL-020
IRIEEEARE  203049A8H
PCRLE1-DENE

REBS 20234 98 18
ZER Mg &
(TR —BH FEAY AT IR R
EZEREE 1mE AT
S EBIREE R
ISO14025(C RS ARE B R UT —5 DML LIAREE
CIRgER B

*VATLRIER D EEEANORIEDH AR VAT LARBAEITLEERD
HEIER .

Muahts BEIMIVAESKRRASINR—->3>EAsH

EaEmAX AR EHFSV6T H1E
https://www.fujifilm.com/fb/

Fi#&ES ¢ JR-AI-25039E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPOBRIESAINTOIS A

SuMPO
E p D SuMPO EPD — AR A Y AT IR S
g | 'l Perdt S14TNRBEEE (EPD) HREBTFRERAMET-14-8
VERIFIED KANDA SQUARE GATE
BiFEE JR-AI-25039E https://ecoleaf-label.jp
191V EFMmE R
- . . fE R - MERF
REFREER | SRR TR RS o BEEERFE
=X
S[MREE-&& kg-CO-eq 4.61E+02 1.65E+01 3.94E+01 9.88E+01 1.03E+02
AV ERIE kg-CFC-12eq 3.75E-05 2.71E-08 2.90E-08 2.22E-06 2.12E-08
EXRENL kg-PO4132-eq 1.42E-02 3.25E-04 2.18E-04 3.20E-03 1.13E-04
[izyX(4 kg-SO2eq 1.47E+00 1.17E-01 5.24E-02 4.55E-01 1.07E-01
HAZAXII kg-CzHseq 8.90E-03 1.02E-05 3.54E-04 8.76E-04 8.09E-04
IEEYE R E-3L) kg-Sbeq 7.27E-01 6.50E-05 1.54E-05 2.01E-02 2.03E-05

17917V IRY B3 REEE R

—REFRDERICET B3R

RRESERE | MEEE | TSR ﬁg’j:ﬁ e
BEARE—RER M) 1.55E+01 2.45E-03 2.93E+02 6.56E+02 8.67E-03
FEEAMEE—RENR MJ 1.37E+03 1.88E-01 2.88E+00 1.37E+02 1.14E-01
BAETRE—RIRILF- MJ 1.12E+03 1.49E+02 1.12E+01 4.94E+02 457E+01
FEEEFME—RIRILF- MJ 7.94E+03 5.94E+02 4.65E+02 2.38E+03 5.30E+02
WKDHEE m? 3.49E+00 1.13E-02 3.08E+01 6.91E+01 8.19E-03

HERRCETZEMIER

-BAEREEAETELLTEELELE,
EEEEPHR)DEEYTYATEELTNET,
-HROBEERRMESEMT,
(ER - HRRRCHI2ERBAROEREEENE A,
ERBOENE. IRIVF-AT-FOITLVer3 28 (A >THE LETECERTICEE LELE,
BRI ER IS, 135,000 T,
1/4 x30 (YaJ/B) x 15 (1) x 5 (B) x 4 (B) x 12 (7 B) x 5 (&) = 135,000%

ZOBOIRIFEEIEIE R

IRNF-RF-T0J5LVer32 BE

MRIBSUMECBE T 2R S

EEMELE%‘% Lk

E-mE (RS Hifi CAS No.
EEi 38 kg - - -
sus 032 kg - - -
TIVIZOL 0.52 kg
tofeR 1| k
T5AFYY 32 kg [REAIF, LCIT-5R-RIDEA Ver.3.4, SUIMPORE SN TOT I LB HT-Y
myN 0.37 kg Ver1.15ZERALTNET,
A5 14 kg
# A 9.8 kg
EHER G 34 kg -
kol 37 kg

OT-FEENH L. PCRELUVEE - EEREESRBL UL,
OLLRIDOVNTL BEE - EERBICREINEREEBLLSELLIE
(ZBH8EURL : https://ecoleaf-label jp/regulation/)

DHLNEEA,


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

